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D& CHAN A RETKIE 2014.02.15 09:03:00 AM
&% BEIR B DERFFI 5> ELREH o mny =mEES & *

BIER HT—BA 2.700 7. 400 10. 100

FRETA HI—BA 2.300 7. 500 9. 800

T & HT—BA 2.000 7. 200 9. 200

ES=F SIFPA 1.350 7. 000 8. 350

FEHLRR HI—BA 1. 600 6. 500 8.100

Mtérd HT—BA 1.700 5. 850 7.550

HiFa HT=BA 0. 900 5.500 6. 400
I CAN AR HETFIR 2014.02.15 09:03:00 AM
&% BIHR B DERFFI > ERFH o mny wEES & F

FRETA HI—BA 2. 450 7. 400 9. 850

BlER HT—BA 2.550 7. 200 9. 750

EELR HI—BA 2.100 6. 700 8. 800

T &K HT—BA 1. 750 6. 700 8. 450

HiFa HT—BA 1. 850 6. 600 8. 450

ER=F SIFPA 1. 800 5. 800 7. 600

Mtérd HT—BA 1.200 6. 200 7. 400
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